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gooooooooboooooo
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1 0goouogod

gboogooDb 100 Oo0Dbo

1.1 O0Odd

O0o000o00oooooooooobooooooooooo,0booooooooooon
ddo.ddodoo,30dsdobobboooboooooooooobooooo. ooo
gooooooo, 0000 oobooooo0. booooboooooon
O007soramame’0 0. D000 C++0000000.

1.2 soramame 00O OO OO

soramame U0 0OO0000000000. 000o40oooOOooon.

fun main(){
print("hello,world")

___D |:| —_
hello,world

0000000000 000. 000 CO JavaScripp0O00O0O00O0ODOOODOOODO
gbooobooboobboobuobb. obbwain000oooooOg.

goboooog

data Point{ x:int; y:int } /00000 (OOO0OO0OODOO)
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var a:int=9

var b=5.1,c=[("java",true), ("c",true), ("python",false)]

var d=Point{x=12,y=200}

a=d.y;

print(c[2][0]) //python 0O DO OODO

b="kitcc" //000000000000O00DOO0OO0O0ODODOO0O = 00 :double O
O:string 000O0OO

goooooooooo. bbooooooo,bboooouuououoo. obobn
O,b0 double O, cO string [ bool DO OJOODOOO ([(string,bool)]), d 0 Point
gopboooboob. 0Db00d int, double, bool, stringU OO OO. OO,000
0O0O0O0 ([T1,1000,000),000 ((T1,T2,...), 0000, 000), 00000
000.0000000 (fun(T1,T2,...)=>T), 000 (continuation(T)), 000000
(channel(T)) 0D OODO.

ooooo

fun makecounter()=> fun()=>void{
var n=0

return fun(O{ n=n+1; print_int(n); return }

fun main(){
var n=10
var a=makecounter () ,b=makecounter()

aQ); bO; aQ; O

oobooobooobooooboo. obo,00b00ooboob,000b00boboooboooD
O00000. mainO0000 makecounter 00000000000 (20000 0OODODO)
oobooooobooo.obooooboooboooooboooobooOo,0cdnbO00obobo0ononn
Ub0o00b0oo0bOobO0o0ob. 00 makecounter O OOOODOO0OD0OO000,00000
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gooboob.oboobobo,0boboboboobobobnbobogbg. 00
oboooooooooooooogo,oooooboooooooon.

EEN

fun main(){
var cont:continuation(void)
print("do "); print("re "); print("mi ")
callcc(c){ /*c00000000O0ODOO=*/ cont=c 1}
print("fa "); print("so "); print("ra ")
cont ()

-0 0 ---

do re mi fa so ra fa so ra fa so ra fa sora .....

JdoooO0000ooDoddo. boooooobho0oooobOooooooOoaoon
00.COO0000000D00 setjmp/longjmp 00000000 0OOODOOOOOO,O
00000000000000 Y. 0000,dorenmi 00000000, 00 cont O
O0000D00000. callecOODOOODDOOO0O0O0OOOOODODODOO call-with-current-
continuation 0 0 0O, Scheme 00O 0O0O0O. OOOOO0OO0OOOOODOOOODOO. Scheme
oodddd,soramame 0 0000000000000, fasoralOOOOOOO,
cont 00000000000000O000DO fasoral000O00D0OO 2

gobobobooooboo

//00000
fun main(){
var player=[newchannel(bool,1),
newchannel (bool, 1) ,newchannel (bool,1)]
var playerl:fun()=>void = fun(){
player[0]?
print("Player 1 catch!\n"); sleep(3000)

'DoooooooDoooOooOoon.
‘Do0O000oooOooog.



1000000000

goog

player [randitem([1,2])] 'true
player1()

var player2:fun()=>void = fun(){
player[1]?
print("Player 2 catch!\n"); sleep(1000)
player [randitem([0,2])] !'true
player2()

var player3:fun()=>void = fun(){
player[2]7
print("Player 3 catch!\n"); sleep(2000)
player [randitem([0,1])] 'true
player3()

async playerl(); async player2(); async player3()
player [0] !true
sleep(100000)

fun randitem(list: [int])=>int{
return list[rand()%(@71list)]

-—[000---
Player 1 catch!
s000)
Player 2 catch!
apooo)
Player 1 catch!
@cOoo)
Player 3 catch!
euoboo)
Player 2 catch!
apooo)
Player 3 catch!
(2000)
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soramame J OO OO0O0O

//00000

fun

fun

fun

fun

main(){

var cl=newchannel (int,1)

var c2=newchannel(int,1)

var c3=newchannel(int,1)

async intgen(cl,1)

async map(fun(x:int){return x*x},cl,c2)

async filter(fun(x:int){return x%17==0},c2,c3)

print_int(c3?); print("\n")
print_int(c37); print("\n")
print_int(c37); print("\n")

intgen(chan:channel(int),start:int){
chan ! start

intgen(chan,start+1)

filter(f:fun(int)=>bool,in:channel(int) ,out:channel (int)){
var value=in?

if (f(value)){ out!value }

filter(f,in,out)

map(f:fun(int)=>int,in:channel (int),out:channel (int)){
out ! f(in?)

map(f,in,out)

-0 0 ---

289

1156
2601
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gobobooboooobboboooobobooooboobooooob. oobobooboooon
async0 00000000000 DOOOOOOOOODO,DOD00O0000D0OOOODOD
OO000000. GoOOO goroutine GoOOOODOOOODOOOODOOOODDO,DO
goboobooobboobooobooboooboa,obooboobobooboooboog.

gboogobobooobooboboooogo,oboobobooooboboobobob
gboboob.odbbddscramame 0000000000000 OO0O0OOOOO. OO
goooboooboboboooobobbooooooboobbo. obboooooboboooon
goboobogoobooooobobooobooboboobob. oboboboobooboobo,
FlFrOOOOOOOOOO.O0OOOO0ODOOODOOOOOODOOODOOODOODOOD
goooooo. (booobolzoob, bboobonrlbboboboo.bobobobooboo
gbobobobo.oooooooobooooooooooooooooon.

ubgloogbooboboboboboboboobobobo,0l11gbooboooooo
O0000. playeri0300000,000000000000(0D0000 true)0000O
gobooboboo. oboboob,00b00bobob0oboobob, 00 playerd
gbooobobooooobooob.ooboboobobooobooboooboboooboon
o0o0ooOOo00O0. coooodboo0ooOoDO0bObOUOO0bOoUobOoOobDOoDOobOo
gooboooodD,scramame J 0000000000000 0O00O0OO0OO0OO0OO0OO
0(00). playeri030000,playeri 000000000 ODOOOOOO, 0000
goo0boobobibdbU. main0DO00000O0DOOO0DOODOO0ODOOO,0000
gbobobobobooboo.

playerl
R—IL
(true V/ \\
player2 |= » player3

01100000000

200000, 0b00DO0ODODDOODOOOOODOODODODOO. DODDOODODO
gooobooooboboo. bbooooboooobobobooooboboboooon
U.000000b000b000b00bo0obobbOob. intgen 00O, startd0 10
gobooboooboobobobobobboob. 00bo00start 000 100000000
O00. filter00O0,in00000000 (D0OO0DOOOD0)H)fODOOOOO,0ut00O
U000. mapU0D0 in0O000000 £0000000out000O0O0DO. OD0ODOODO
gboboooboboob0obob0obd0bl. main00OO00 e1,e2,c30 300000
gboboooboog,b 1200b0bo0ooooboooooboooon.

intgen 000, 0000000000000D000O000O0O00DOOOODOO0ODOO0O.
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intgen > map » filter ———— >
cl c2 c3
LTS 1,23,.. BRE-R 14,9,... 17cEYghan  289,1156,...
EREIYRRC

012000000

gobooboboboobooboboboooobooooboobobooobDOob,boboooobo
gooooooobogoooogoboo. boboboboboboobboboUobO,DbobO
gobooboboogooboobooogobobooobo,b0bob0obooboobobboboDbo
gb0.00b0boboobobooooboobobobooobo.oboboboooooboobo
gobooobooobboobooooboogboboobbobooboboboobboobLDoboboDUDbO
goob.dboboboboboobooobooooooooooooooooooob,boo
0000000000000 000O000. 000000000 OO00 (rcOD00OO0)OO
gogboooboob boobobuobbo0ob00obUo0b0. mapl filter O
gobboboooooboo,bobo0bobooboboooboo0oobooboboob.bo0b0, main
gboobogooboobobooboo e300 3b00booobo. boobobooboooon
ooooooooog.

intgen,filter,map U U UUUOO0OOOOODONO async O UOO04, g
goooo.jogbogobobobobobo,obgboboboboboboboobo
0000000000000 3 00000000000000000000000000
gooboooob,bob0oooooboooooboobobob,0ob0oboooooon
ooo.

gobobooon

fun main(){
print_int(2°372) ;print("\n")
var f= fun(x:int)=>int{ return x*x }
var g= fun(x:int)=>int{ return x+2 }
print_int( (£$g) (3) )

+

//00

fun ~ binary,right,50(x:int,y:int)=>int{

return pow(x,y)

‘0000000000000 D0000D0D, 000000000000 00D0000000O000g
goooooo.
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}

//0000 (int->int000)

fun $ binary,right,60(f:fun(int)=>int,g:fun(int)=>int)=>fun(int)=>intq{
return fun(x:int){ return f(g(x)) }

—0Q---
512
25

gboboooooooooooooooo.bobobobobobobooo,bobob
gobobooobbooobobooo. boooboboooobooboooboooobo,booa, b
goo,0000.

gooogg

fun main(){
glut_openwindow("Lissajous")
glut_setdisplayfunc (fun(){
glut_clear(); glut_begin_point()
var a=4.0,b=3.0
for(0.0,1000.0,1.0,fun(t:double){
glut_color3i(255,0,0)
glut_vertex2i(d2i(sin(a*t)*50.0)+100,
d2i(cos(bxt)*50.0)+100)
b
glut_end O ; glut_flush()
b
glut_mainloop()

fun for(start:double,end:double,step:double,block:fun(double)=>void){
if (start>end) {return}
block(start)
for(start+step,end,step,block)




1.3. 000 9

oo, 0doogoooooooooooaa.

e 00 (sin, cos, tan, abs, rand[)

e 00D (int 0 double 100D D)

e J00ODDOO (print, print_int, print_double, print_bool)

e 0 (0DUIULUDODDODO,00DODODOOOOODO)

0000000 (GLuToOoOoO,0o002b000000000000O00000O0OO
ooooooo)

gbooo,buobobobobobuobodl. glut_setdisplayfuncOUO O OO 00
gbooobobooboooboo. oboobooobbooooooo,onooboooon
0000000 for 000000000 soramame 00000004 000000000
ooooooboO for0dbbooooOooDb.b130000000.

00,0140 scramame 1 0000000000000 0O0. O0OOOOOODODOOO. O
15000000000, oo, 0bbooobboooobobobobboOoobbOoOon
gboogood.

= =i
013 000o0o0n 015 000000

0140000

1.3 000

000000000, 000000000000000000. 000000000, 0
000000000,000000000000000. 00000000000, 000
000000000000, 0000000000000000000000000000
oooogs.

‘whileODODOOOOD.
SOpD0000D0000DD00O00DDO00O0,00000D00000DO
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obooooboon

ubooboobgobobobobooobobooboboobobooobo. boooon
gooboobogbbooboobooobooboob,oobbobobooboo. o
gobodgboobboobuodoboo.obg,bboobuoobboobooboan
gboobobooooooboboobobooboboboboobobobooob. on
ULROODOODODOODOODOODODOODODbODO.

LROOOO

LROOOOO,00000000000000O0O0DOODLODODODODODODO
go.oboobooobooboobbooboobooboboob,oobooboon
gboboboobooobooooooooooobo. LRO0DO0OO0O0O0OO0O00oo0OO0oo0oOonDO
gboobdbOyaccOOOOOO0OOOOOOODOO. O0OOO0OOOOODOOOO,D00O0
gooboboboboobogooboobo,0bobobobgb0o. o000 LROUDUODO
gobogbooon.

< whilestatement >::="while”” (” < expression >")"" {7 < block >"}”

OO0OD0,whileOO BNFOOOODOOOO. whileOODOOOO,0000,000
0,0000,0000000,0000,0000, <whilestatement>0000,000
goobo.gboobobooboobob,0boobbooboobboobooboon
gbobodgboob.bogboobbdg.

SyntaxRule SYNTAXRULE [SYNTAXRULECOUNT]={
(0 o)
{{whilestatement ,WHILE,LPAREN, expression,RPAREN,
00000 LBRACE,block,RBRACE,SYNTAXEND},while_reduce},
(0o
+;

0000000000000 00000000,000000 LROODDOOODOOO0ODO
0.000000,0000000000000c00000,0000000000000
O0000. 000000 o 0000, 0000000O00shit 000000, ODOOODOO
00o0dodo.00d00deco 0000, 0000DO0O0O0O0ODODODOOODOODOO,
reduce000000. 00000000 DOOOOODOO,00000000000. while
O0o000oOoOo,shift000000, 000 < expression >0 < block > 0O reduce O O
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O00,0000 < whilestatement >0 reduce0000. reduce0 0000, 0000
0000000000000 00. 0000000000000 00 whilereduce O,
< whilestatement >0 reduce 1000000 O0OD0OOOODODO. ODOOOODODODOOOO
O <expression >0 <block >0000000000O0O0O0O0O0O000OOOOO0O.

gobobod

ggbobodobbuoooobog,obbuooobooob. oobbbooag,bboan
googopoobooboobooo. obg,bbooboobooobooboooooobooon
gooobooooboobooo. booobbooobbbuooobbbob..bboooobob
. bogbo,gbogooboob,bogbobuooboboobobao. boboan
gboooo,0oobbooboobboobooobooo.

< expression >:i= {< primary > | < operator > | < parenexpr >} +

<prmaery >0000000,0000000.0000000000000000000
gobodoo,bbooobooobboobbo. ob,boobbooobboobo
gboooboboobooboob.boobooboboobooboooobooo,oon
gboobooobobooboooobobb. obooboboobobooboboon
gbooooooooboooooo,oooooooobob.obobob0oboboboobo
googd.

oo

goooobobooob,booboboobobooboobobobo.oboboob, O
gbgbodbobooboooobo. obobooboboobobooboboan
g.0b0obobooboobobooobooboobbooobooobo,oooooboooon
OO000O0.000,00000000000O0D00000.00 CcCOo0DOogooooon
0000 (000,00000000000)0000000000DOOO, soramame 00
00000000000000000000S% 000000000000,000000
gbooooooooooooooo.

goboboo

o0o0o0o0o000000000 (0DDO)U0000U000O0ODL0. DODODUOOoOoUooboo
oooooooo,bob 3+4x500,

000000 i2d(int OO double), d2i(double OO int) D00 DD OO.
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ipush3 //00 300000
ipush4 //00 400000
ipush5 //00 500000
iml /000000 2000000000000000
iadd //00000D0 200000000000 0DO00ODO

oooooooooooooo ™.

gboooooobooo,ooboobooboobooobobobobbobooooogon
goodbooboboobobobooooboooob.ooboobooboboobon
gbodg,ggboa,ogbogoobobooboboobo,goboboobuooboboan
gobobooobboooboooobbgo,oobboobbooo. bog,0b0oboaon
gbobobooboooooooooo,bobooboo.

fun main(){
var x=12, y=34
var f=fun(){
print_int(x)
+
print_int(x)
print_int (y)

main 0000000000000 £00 printint(x) 0 x0, 000000 main0 O
000000 =x000,(L,0)000000. U0,main0000 print_int(x) O x0O, (0,
0)000000. print_int(y) 0 yO,main 000 200000000000000, (0,
1)0o00o000.000000000000OC0ODO000, 000000000 DbDOOOO
ooooooboOo.ooo0ooboooboo0ooobooOooO,0bboooboOoboboOooDo
oooo.

goooo

uboobodobobboboboboobobooboboobo. booboooboooan
gobooboobboo,oobbooboobbobobooboo.0booboon
OJvMO CLROOOOODO,00000O0CO000O0OCO0O0ODODOOOODOD

‘0000000000000000000000000000000000000O0.
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gbooboboooboooboboboobobooboobobooobo. 0boboooon
goooooboooboo,JvMobooooooooooooo. booboooobooo
goJvMOoooooO. oooooooooog,gbboooboobo.oboooboobooo
goobooobooobobooobo. booboboboboboooooboooboobooon
ooooo.

e OOMO
e JOOODOODODOO
e NOODODOOODOO

gobodgbood

e JOUODOODODODODODODODOD

e IO DOO0ODOODDOODDOODLOODDOO

O0o00ooo0o0oo,0000b0000000ooU0O0(DoboUoooo0)oooo
ooo.

oo

dooooooooooo, 0000000 ooboooooooooooon
0O0. 00000000000D000000000, 000000000000 000 8.
makecontinuation OO O0OOOOOO0OOO00OOO0O, resumecontinuation [ [
ooooo.

gbooooooan

int main(){
£0O;

return O;

void £(){
printf ("f");
g();

8Lime34 000000 Scheme 0000000000000 0D0DOO0OO0ODOOOODOOOOODOO.
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void g(0{
printf("g");
103

000 CO0000000000.000000000000000000000000.
0000,0000000000000 soramame 100000000000000000
00000 fgfgfgfgfg... 0000 fg000000.0000,00000000000
ooooooooo.

int main(){

goto f;

printf("f");
goto g;

printf("g");
goto f;

return O;

uoboog,0bboogdb getolOOOO0OOOOODOO. OODOOOODOODO
gobOobDooboobognD. socramame 0000000000000 0O00O0O0ODOODO
gboobobobobo.

ugbobOvM::Ren OO0, 00000000000000.

//vm.cpp 000
VMValue VM::Run(shared_ptr<Flame> CurrentFlame,bool currflame_only){
oo
try{
while (true){
oo
bytecode = OPERAND_GET;
switch (bytecode){
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case ipush:
v.int_value = OPERAND_GET;
STACK_PUSH(v) ;
break;

case pushiml:

v.int_value = -1;
STACK_PUSH(v) ;
break;
(000004 caseO O d)
}
}
}catch (exception& ex){
(oo)

0bobo0o0oob0obobOb case00OO0ODOODOO. DODODOODOO, 00D
gbgboobuooboboobobooo,0boboobobdd, invekeO OO OOO
gobooobooobD. invekeD OO 2000000000, DOOO0OO0OOODODO
gboooo,0boboooooooooooooobooboo.bobobobobobobo
gboodgbo,gbboobboobbobbobbobboboboobooboobooobon
goog.

oood

O00000,0000 inveke 00000000 0OOODOOO (asyncO0O00OOO)ODO
good,vM::ren O OQOOOOOO0OOOODOOO.

gboogoog

sendchannel/receivechannel 000000 0O0OO0OOO. ODOODOOOUODOODO,
gbogooooboobodgb.goboboboobuobobobobooboboboobaan
ugbooobooboob,obbooboobooooobooan.

1.4 OOOd4d

go,00bboobbooboobbooboboob.oobboobooboobobon
g,00,00,00000,00,000000000000...0000DO00DOODO
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O000000.soramame 10000000000 O0D0OOCOCO,0000000000O
oobooo0oO0O000.00,b0000000GCOOOOOODOOOOOO. GCOOOD
0000000000 (sharedptr) 00000000000, shared ptr00 00000
ocooGcooooooooooooOoOoODODODDOOOOOOOOOOOO. 0000
oo000000booooOoOo0O0000O0boooOoOO0O0O0OO0O0O0O0boOoOobO0O000. GC
ooooooooooooooooooooooon.

soramame 00000000, https://bitbucket.org/matsud224/soramame [0 0 0O O
ooo0. 00,000 ooooovMOOOOOOoOooOoboOoOoOoooOoOoOooooon
000 http://www.slideshare.net/matsud224/soramame 0 OO0 0.

oo

1] 0000,000000000000 (00D0D0)

2] LLVMOOOOOOOO0OOO0OO0OO0OOO, http://peta.okechan.net/blog

3] 00 000-0000000 LROOODO-, http://vrl.sys.wakayama-u.ac.jp/SS/
[4] Scheme O O, http://www-ui.is.s.u-tokyo.ac.jp/~hara2001/scheme

p] Java OO0 O0O0O00JasminO0 00000000000 O0OOOOO, http://www.
hakkaku.net/series/java 000000 jasminOD 0000000000 0O0ODO0O

) 000000000 O0O0OO0OO0O0OO, http://itpro.nikkeibp.co.jp/article/
COLUMN/20060915/248230/7s2p
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2 0000ouodgod

gooooD 100 00 00

21 OO

gobogoooooboboobobdtb e++b0o0bobooobboobbobboobogn
gboobboobuoobboobuooboboobbooboobbooon
0000@45)*2000000 160000000000000O0O

22 OOODODDOOOOOO

ggboboooobbooobboooobbooobbooobbooooboobobogon
gboogo

1)

(O

[DO00O0D0O0O00]3+5
[DO000D0O000]35 +
[D0000000]3050 00

(@2

00000000 (3+5)%*
[

[

0000000035 42*
O00oo0o0ooo)30 5000020000

gobodboobobooboobobooboobbooboobbooboon

23 UUOOoooooooouoooooad

gboobobogoobobobooboobobooooboobooobobooobobon
goobooboboobooboboboooboboobobooboobobooon
gboabboobagbooo
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20000000000 — DOOD0OO

(0 1)
O35 +0000000000a

3. 30000

5.50000

+..00000030 5000080000 (D 00030 s000000000 )
gooooobooooosooooooooao

(0 2)
035+2*0 0000000000

3..30000

5.50000

+.0ogogooo 30 s0o0o0o0s8uudd (D goo30s0000000a D)
2.20000

*.0oobooOo 8020000 160000 (DDODODO 8O 2000000000O)
gooooobooooooleobboboooobooboo

Uobc++000obooooon

/0000000000000 00DO000OO00O00DO0OO0
double calc(vector<string>& input) {

stack<double> stack;

if (input.empty()) {
cout << "nothing to calc" << endl;
return NAN;

for (int i = 0; i < input.size(); i++) {
if (input[i] == "+") {
//00000 stackODOOOOODOO
if (stack.size() < (size_t)2) {
cout << "syntax error" << endl;
return NAN;

3
//stack 00 2000000000000 stackODOOODO

double hoge = stack.topQ);
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goboobooobobooboobo
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stack.pop();

double piyo = stack.top();
stack.popQ;

//0000 stack 0 push
stack.push(piyo + hoge);

}
else if (input[i] == "-") {
if (stack.size() < (size_t)2) {
cout << "syntax error" << endl;
return NAN;
}
double hoge = stack.top();
stack.popQ ;
double piyo = stack.top();
stack.pop();
stack.push(piyo - hoge);
}
else if (input[i] == "x") {
if (stack.size() < (size_t)2) {
cout << "syntax error" << endl;
return NAN;
}
double hoge = stack.top();
stack.pop();
double piyo = stack.top();
stack.popQ);
stack.push(piyo * hoge);
}
else if (input[i] == "/") {

if (stack.size() < (size_t)2) {
cout << "syntax error" << endl;
return NAN;

}

double hoge = stack.top();

stack.popQ;

double piyo = stack.topQ);

stack.popQ);

stack.push(piyo / hoge);
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}
//0000000000(0O00)000 stackd push
else {

stack.push(atof (input[i].c_str()));

//0000000000000
return stack.top();

input 071370 07+’00000000000000DOO0O0ODOOODOO0OODOO0OO
goboodg

Uboob0ob0obobobuobobUobU stackDOOO0ODO0ooD push OO
OoboooobDOpoep 200000000000 0O0DOOO0 pushO0D0OOO0DOOO

O000000000000000000000 NAN(Not a Number) DOOOOOOO

0000000000000 DOo0o0oDoU0ooooUooDOooooDoooOon
oon

oo: 53+

od: 8

Od:23+4%*

oo: 20

Dooodoooooogo

24 O00ooooooooood

uboboooboboboobobobooboboooooboboboobobogn
gbooooobobooboboboobobooobobobob 1ooboboooboooboon
gbobobobobobobobobobob

uboboobabooabobood

gbobobobobobobobobobooboboboboboboboboo

uboboobouooboboboooboboboboboboobobobooboobogn
googbobooboonoooboboboobooboobooboobooboboobon
goboobooobooobooboobooooboobooobooooboboooobooboo
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gboooobooboobbooboobbooboobbooboobobooooog

c++00oobooooooaon

/0000000000000

void convert(vector<string>& input, vector<string>& output) {

stack<string> stack;

if (input.empty()) {
cout << "nothing to calc" << endl;
output.clear();
output.push_back ("NAN") ;

return;

for (size_t i = 0; i < input.size(); i++) {

if (input([i] == "+" || input[il
input[i] == "x" || input[i] == "/") {

/0000000000000
while (stack.empty() == false &&
priority(input[i]) <= priority(stack.top()) ) {
output.push_back(stack.top());
stack.popQ);
}
stack.push(input[i]);

}
else if (input[i] == "(") {
stack.push("(");
}
//00000000000000000000000 output O
else if (input[i] == ")") {

if (stack.empty()) {

cout << "parenthesis error" << endl;
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output.clear();
output.push_back ("NAN") ;

return;

while (stack.top() !'= "(") {
output.push_back(stack.top());
stack.popQ);
if (stack.empty()) {
cout << "parenthesis error" << endl;
output.clear();
output.push_back ("NAN") ;

return;

}
stack.popQ);

}
//00 (000)00000000O output O
else {

output.push_back(input[i]) ;

while (stack.empty() == false) {
output.push_back(stack.top());
stack.popQ);

priority 0 04+0-00 100*0 /00 2000000 0000000000000O0O0OO
gboobodgbobobodoboobuoboobobobooboboboobobobn
og

2000000000000 string0 00000000000 O0OOOOOOOOOOOO
od: 543
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00: 53+

00: (5+3)*2
O00:53+2%*
0000000000000

000000000000 oO0oooooOoO@B+s)*2o0000000000DO0O00OO
gooo

25 OOOO

goboobooooboobooobooboon

e OO

- —00obobbooooobobobooooboboboooobobonbDoon
goboobooboobobobooboooboooooboobooobooboobo
0000000ooo0oooooo~(boo)oboOOoOoDOoDUOoOOoOoODOOOoOoOO
gbooobooboobobooooboboobooboooobonoonog
o0 -oooooooooo»-1"obbooooboboooobbooooooooo
gbobooboooboboooon

o JOOOMO

— convert OO0 string0 000000000 00O0O0O0OO0OO0OOOOOOO
goboobooobboboboooboobooboboobooooboon

gboboboobobobobobooouoobobooboooboboong
goobooboooboobooobooboooboboobooooboon

26 OOOO

(3+5)%2— 16

gooodgooooaa

() = nothing to calc

((() — parenthesis error
ggooooooooooon

2.1/2.6 — 0.807692307692
Jooooooobobobboooooooooo
—1231 41230 — -1

3x(—-1)+8—=5

doooooooboo
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10 + (8 + (—2) #2) — 2.3 % (—3/4 — 1) + 0.1414 = (—6.434/(—3.2315)) — 18.3065310537
00000000000000000

27 OO0

gboboodbobobobooboboobobuoobooboboobuooboobogan
gooooobooond

booboobooboboobooboboobooooobuobobDuoobstdecont 00O
gbobodgboobbooobooobboobuoobboobodobtce++0bogboa

uboooboboooboboboboboooobouooboboooboboobonbonoo
goboboooobooobbooobbbooobbooobobbooobbooon
gbogbobooboooobobuobuooboboooboboboobooooboob
gboooooboboooooboboobooobobooboobobooboooboobooan
gopbooooon

28 OO0OOO
e http://7Tujm.net/etc/calcstart.html

e http://www.gg.e-mansion.com/ kkatoh/program/novel2/novel207.html
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3 0uogooon

googoob 300 00 00

31 OOOO

gbooooboooboobooogoobooobboboboobooboboobooboooon
gbgbooboboobobooboobooboboobobobobooooooon
goboooooboooobobooobbboooobooobbooooobooooon
ggboooobooboooogobooboobooboobbooboobooooboooboobo
gbgboooboboboboboboobobobuoboooobooboboooboboan
gboooboboobooboboobobooboo

32 OOOOO

0000000000 (boO0)DooOoUoOoULOoOOoUoOoOooDoOo
e IO UIOOOOOODOOOODOOOODOOODO JavallODOO

oboobobobobJawvaO0OOO0OOO0OOOODOODO

Oo0o000ooosQrLoooooooooooooboooOogo

ooooooboboooobooboooboooooboboo POFOODOOODODO

gboboboboboboboobooobooo pPDFOODODODOD

gboobobobobobob

e JIDOODODDODDODODLODLODDODOODOODLOODOODO
gboobobobobobob

0000000000000 JANOODOODODOODOOODOOOOODODOODOO
gobodgbooooo

gobobooboobobuoobuooboobooboobooboboobon
gbooooo
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e NIDODOOOODODODODODLODLODLODLODODLOOOODOOODON
uboooooooboooooooooooDo

e NOIDOOODDOODOODOODDOODLOODDOO

e NUUDOOODLODLOOODOOODO
gbobobobobooboooboooooooboooooooooog

e JOUODO’ODODOODOOIDOUODODUODLO

e NOUODOOOODOOODLODOOODOOODLDDOO

e NUUDOOOODLOODLOOODLOODLDOO

33 Uduoogoooon

ubgboboooboboboboooobobobobooooboboboboon
oO0o0O0OSQLOOO00OO00O00DO0oU0DOoO0DOoOU0oOoOOobOOoO00ooOOOooDoooDo
gooo400000000000DO00O0DbOOODOOO0ODOOODOODObODOO
goboodg

3.3.1 0000 Book
goooo0o0oooooooouoooooboooooooDoooooooooog

Manage_number
lg0obooboobooboobooobobobooDbooboobUobobUooo
INTEGER NOT NULL UNIQUE PRIMARY KEY

Book_name
0000000 TEXT NOT NULL UNIQUE

Person_name
00000000 TEXT NOT NULL

Publisher
000000 TEXT NOT NULL

ISBN10
ISBN100O TEXT UNIQUE

ISBN13
ISBN130 TEXT UNIQUE
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JAN_code_1
JANDO OO 100 0INTEGER

JAN_code_2
JANO OO 200 0INTEGER

Price
000D 0OINTEGER

Quantity
O0O0000OINTEGER NOT NULL

Registration_day
000000000 TEXT NOT NULL

Update_day
O00DOO0O0OO0ODO0OO0OD0OTEXT NOT NULL

Registration_user
000D0O00DOO0OO00OTEXT NOT NULL

Last_modified_user
O0000000000000000TEXT NOT NULL

Delete_bit
00000000 10000INTEGER

3.3.2 O 00O Rental history

gobodobooobooboooobbooboobboobooo

Manage_number
O000000O0INTEGER NOT NULL CHECK (Manage number;=0)

User_name
0000000000000 00000TEXT NOT NULL

Rental_day
0000TEXT NOT NULL

Due_day
O0O0D0O000TEXT NOT NULL

Return_day
00O0DO0OOgTEXT
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Rental_number
O000000000000000000000

3.3.3 0000 Rental_wating

ubboobuogbboobodboouoobboobooboboobobogo

Manage _number
O000000OINTEGER NOT NULL

User_name
000000000000 00000000TEXT NOT NULL

Wait_limit
O000000O0OQTEXT

3.3.4 O000 User

gbbooboobboobooboooobboobuoobboobobooo

UserName

O000O000TEXT NOT NULL UNIQUE PRIMARY KEY

PassWord
0000000000 0000TEXT

Name
O0000000TEXT NOT NULL

MailAddress
0000000000000 TEXT

latest_login
O00000O0O0OoTEXT

Authority

og og

000000 10000000bo00oboC00DOOb0ODTEXT NOT NULL

34 GUIOOOO
341 GUIODO

GgulgoooooobooobooboooooobooooobobboboboDbooDo
gbooooboboboooboboboobobobooooboboooobooboon

gobooboobboooboobobooobooboobbooboobbon
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e OO DOODOODODOODO
e OO DOOODLUOODLDOODLDDOOOLOODLDOO
e J00ID0UOOODOODODLOODODODODOODODOOD

O00DO0oO0OoOOoOoO0obO GuUIDOOOO0ODOoOooDObobOOOooD 3.103y0oogooo

T T [ S ]~ =] [T
RRIRAMAYI S E1— S HEEEEL R T A . ﬁ"’ﬁ;ﬁ;ﬁ ‘ REHY S
== | ISBN ﬁ:;ﬁézomawﬂu—éu
‘ EOBE - —EET E ik Tonetre
- o wsn | FTo/A—a—F
FHROLVBAE, AE—BITRETESLS
‘ AEfEY S READLBRLTCREL, ’
4 Hi AR
. E] ISBN |
‘ AERY R
‘ HLHLEE
03100000 0 3.2 0000 033 000000
== R
FEHBYS . ADRLELRKE REET
INE RS A — = F&2DHRHRAATLIEELY,
ROKEHYET, EHLLTTH? f/tbg:_mt, H
BEZ Jossvous o=
kRSB U T4 7« Tt eat RR=E=IH
EE wwms HHADHVBEE, AE—BITHEETEEES
ISBN 4.7973-20734 READLBRLTLEEL,
HHBE 20154108268 BEA 23 HikR#E
EAENHABR 2015411 A9E AEE =& ISBN |
#’&R
k| | #Y3 | shut |
E%
0 34: 000000 035 0000ooao 0360000
[ — T =)
RERY
INE RAEA
ROFDBENZEZIHIFE LIz, Oy LTLERL
B8 TJnysvour 1—H—%]
HihR#tsBy U4 5« THRRH IRRT— K
EE wwn
ISBN  4.7973-2973-4 @
HHB 20155105268 A®EA
SRENEARR 2015411598 AR
SBEIB 20155104268 AR
)
OK

037000000 038 000000
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342 GUIODOOOOOOODO

oooGuioDooboooooOoDoooOoOoOoOoOoooooobooCobooOooggooo
boboboboooooooobouoobobuoboboboobooooooooon Java
gbooobodgboboboobbobobooboboboooboboboooboban
gboobobooooooboboobobono 33uobonooobouoooobooooon
goboboooobbooobbooobbboooobboobboooobbooon
gbogbbobogbobugbobuooboooboooboboobobooboon
gobobooooboobooobobooobboooobboooboobobooobobooon
000000000000 requestFocus() 0000000000 0OO0OOOOOOOO
gogbboooobobobooobbuooobbuooobbuooobbbooobbooan
0000000000000 00000000000000000000A0 requestFocus()
gobooboooboobooboboobbooboboobboooba

ooooOoobooooSQrLoOoooboooooooboooooooboOoooooo

35 Jooooooobon
351 ODOOOOODOOOOODOO

OO0O00000D0OD0O0O Book,Rental_history,User OO O0O0O0OOOOOOOOOODO
goobooooboobooobobooo

l.ggbooabboobuooboobbooboobooon

2. 00000000 JANODOOOOODOOOOOODODOOOODOODOOOOOD
oboobooooooooon

. bobooooobobooooboboooobooooooboobooboboooobon
gboboooobooooooooooooon

4. 0000 User O OOOOOODOOOOOODOODOOOODOODOOOO

5. 0000000 DOOD0OO Rental history UL OO OOODOOOOODO

352 OJOO0Oobobooooon

OO00O00O0DOO Book,Rental history,User OO0 OOO0OOOO0O0OOOOOOO0ODO
goboobooobbooooog

1. J00o0ooc0oJANOOODOOOOODOODOOOOOOCoOOOoOoooooOoo
gboobooboooboobon

2.0000000000D0O0O00DbOO0O0ObOOOObOOOnOO
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. 00b0boooobobo1goboboooooobOoDooOonon Userd
O00000000 Rental history OO0 D000 0O0O0000O0OO0OODODOCOO

4. 0Jgb0oooooobobooboobooboooooDobobboobobobooDoD
gbobobooboooo

5. bOOobboOobOopDobobooboobooboobooboboobooboon
gbobobobobooboboobo

6. DO00O00ooOobopooooooooboobobobobobobooboooooooon
gooooon

353 ODO0OOOO0ODOOO0ODOOODbODO

O000OO0O000C0O0OD0 BookOOOODOOUOODOOODDO Book,Rental history,User
ggbooboooboooboboboooboobooboobooooboooboooboobooDbo
gboooobooooao

36 UUOooooooood

gboooboboboobobobooboboooooboboooboboooooobooon
gboboooboboboboboooboboooooobooboboobboboob
gboboobogubobooobobaobooobobooboboboobaoboboan
gbooboobooboobooboobobooobobooboboooboboboan
gbogoooboobobooobobooooboboobobobooobobooooob
OoooooOoooooOoOoooOoOoOobooOoOoobooOoOoOooOoIsBNIooooooOoooo
gbooboooboboobooobobooboobooboobooobooboboboobooonoon
ggboobooboooobooooboobooboboobobobooobooooobobo
gbobobooooboboooobbooobbooobbooobbbooobobooooon
oo

3.7 0OO0O

goooooooboboboooobobobobooooboboobobobDon
gboboboobbooboobobodobuobobobooboboobobobobobon
gboboooooboboboodoboboboboboobobooobobooooan
gobooboobobooboobuoobooboobooboobbobboobooo
gbogbooooobogbobobobobobobooboboboobobobooan
gboboooooboboboodgbobuooooobooboobooobobooobooooan
googoobooo
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goooob obb obooo

41 0O0OOO

U000 LimeO0DDOOO0O0OO0ODDOOOOOOOOOOODODDOOOOOOOOOOOD
gboobodoboboobobdgboboubobobooobobooboboboobon
gbopooobobooboboobooooobobooboboobooobooooooon
gooobooboobooboobooooboooooobooobooooboboooo
gobbooooboobooobbooobbbooobbooobobobooobobooon
gooo

goboboooboboobooobooooobooboobooboooboooboooboooD
gbobobobmoobooobooooooooooommobobobobobmo

42 000

uboooboobooobobbobooobobooboboboooboooobooboooon
gobodbooobooboooboooobuoobbooboobobon

43 ODOOO0OoOO

gboooooooboobgbobooooobooboboboobooomoobooobobon
gboooboboooboobobooobooobuobobooooobooooboboooon
gobodboooobobooboobbooboobbooo

44 OQOO0O0OO0ooon

goboobooobooboooboooooboobooobooooboobooboboooooboD
gbobooboogboooogo

gbobooboobbooboobooboooboobooooboooon

goboobooobooboooboooboobooooboooobobooboboobob
goboboooobobobooobbbouoooboboooobobooooobbboooon
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gboboobooobobooboobobooooooboboobobooboboon
ggbooboooooboobooooboobboboobobbooboobooboooDbo
gbobobooobobobooobbooobobobooooboboooboobobooooooon
gboboobobooboobooobobooboboooboooooboooooboonon
googbooobooboboooboooooboooboooobobooboooboobooboooboobo
goooaoo

45 O000O0O0O0OObOOo0ooOodgo

ggboboooooboboooobobooobbooobobooobbooobooboan
gooooboobbooobooobooboboobooboooboobbooboooboo
gbogoboboobuooboboboobobobuoobobobobuobbooobaon
gbogoboooobooboobooobooboobobooooobooooooboouoooooan
gobgboooobobooobobbooobobobobooboboboobobooooon
gbogboobooboboobobobboobobuooobobobooboboooan
gooobopobooboooooobobooboooboobobooboobooobooon
gboboooobooboboobobooobooboobbooboboobobboobooob
gbbobuoboogboboboobobobuooboboboobooboboooan
gboooobooon

46 OUO0O0OOOOOO

gogbboooobbooobooobboooobbooobboooobobboOon
gbooooooooooooooooooboooooooobobobgon

gbooogboonoooodbilotoobobobooboboobooobobooobaong
gobogsob0dbodbobbooboosobbb0bbd HighD LowdDOOOO
O0oo0DO000 HghODOOOODOOOODOOOODOOOOAO 1000000O
O7nOo000d00bO0O0HghOOOOODOOODOO 70 1000000008000
O000000 HighOOODOOODODOO 88U 1000000090 obooooobO
4000000000000 00DO0OO0Y9 00O 1000000080093 000000
gboooboooboboobobobobooboboboboobooboobooooooboooooon
goboooorbooobobooooboooobobbooobboooboboooonoo
OooooOo0o0oboOo0oU0DOUO HighOOOoooooDooooooooooes3o 100
gboooobooosunnonoog3nnostngnosniooobonboonuooooooon
gboboooboboobobdoobobobobooooboobboboooboboon
gbobobooobobbobuoobobobuooboboboooooboboooan
gbooooboobogooo
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47 OOOOOO

oogoooooooooboobobobobooooooboobobobOoDo
gboooobooboobobooobobgobooobooboobobobooboboooboooboon
gboboboboboobobooboooooooooooo

48 OOO0O0OO
/*

Author : Yaguchi Takanobu the member of KITCC

*/

#include<stdio.h>

#include<stdlib.h>

#include<time.h>

#define ERROR -1

int main(void)

{

OO0 int i,j; /00000

000 int datal100]; //0000000O0CO0O0O0O
OO0 int output_num; //0000000O0O0O0OOOOOOOO
000 int num_play; /000000000000

000 int penalty=0; /0000000000000

OO0 int answer; //0000000OO00OO0OOODOODOODO

000 srand(time(NULL));

000 for(i=0;i<100;i++) /0000000000000

ooO{

000000 datali]l= rand()%100;

ooo}d

000 output_num = datal[rand()%100]; //07990 0000000000

000 num_play = 5;

oooy/\ooooooooo
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000 for(j=1;j<=5;j++){
000000 printf("0000DODODO%ADONMO0000D0ODO0O0OOO0O0O0ODODO
0 :",num_play) ;
000000 scanf("%d",&answer) ;
000000 num_play--;
ooo//00o0o00oo
000000 if (answer>99 || answer<0){
000000000 printf("O0 0000000 \n") ;
UO00dO0bOOO penalty++;
000000000 switch(penalty){
OO00D00000 case 1: printf ("0 0000000 0OO0ODOOO
OO00DO0OO00OO00DOoO0bOO00DOOoOobDOO0OoOOnD \n"); break;
O00D000000 case 2: printf ("0 00000000 O0DO0OOOO00OO
OoboboobbooboooubDboObOObNn"); break;
000000000 case 3: printf ("0 00000000

I I I e I e I A o e A W R W R B I O
\n"); printf("\n");exit(ERROR); break;
oooooooog:
ooooy
oooooo//o0obooobocoboogo
000000 if(output_num == answer){
O00D0D0o0D00 printf("OO MO 0OO000ONn");
O00000000 break;
oooooozs
000000 if (output_num > answer){
000000000 if(output_num / 10 > answer / 10){
000000000000 printf("\n0000000O00O000O0ON\n");
oooDooooog:
OO00D0O00D00O0 elsef
000000000000 printf("\n000000O00O0\n");
oooDooooog:
000000000 if(output_num - answer<5){
000000000000 printf("\n000000O000000 075\n");
ooopooooog:
oooooos
000000 if(output_num < answer)q{
O00000000 if(answer / 10 > output_num / 10){
000000000000 printf("\n000000000O00O00O '"\n");
ooopooooog:
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O00D000000 else{

O00D000Db0O00OD printf(Mn00000OOON\D");
ooooooooody

000000000 if(answer - output_num < 5){
O00Db0b0b0ob0OD printf("\n00000OO0OO0ODOODOO 075\n");
ooooooooody

ooooool

ooody

000 printf("000%d 000 \n",output_num) ;//00000
000 return 0;

}

49 OJO0OOood

Linux,Windows 000000000000 LInuxO00O00000OWindowsOOQOOOO
0000000000000 00000WindowsOOOOOOOODODOODODOOOOODO
gooobooboooobobobooboooboooOOoooobooooboooooooo
00000 Eclipse00000O0O0O0ODOO0OOOODODOO

410 OO

gobopboobooooobooooobooboboboobbooboobobboobbogoDo
gobooobboooboboooobooboooobooobobooobooboooobooooobooooboo

411 0OU

uboboobboobbobbooboboobooboboobboboboboobobooboo
oboobooooboooobobobooboooobuobobLLimedoooooonoOg
O000LmeO0 000000000 DOOOOO0ODOOOOOODOODOOD
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gobodb 100 ooooo

51 OOOO

gbobooooobooboobooobooooboooboobooboobooobobooooon
gbobooooboboboodbobuobooobooboooobobooobooban
gboogooboooboobbooboobbooo

U0b00obo0obo0b0o0bDOOencodel 0000000 ODOOODOdecodeD T 20
0000000000000 00DoooOo ASCclIoDooooooooooooo

52 0OOOOOO

#include<stdio.h>
#include<stdlib.h>
#include<time.h>

#define STEP 4

void adjust(char word[], int number, int total);

void swap(char word[], int number, int x);

main(void){
srand ((unsigned int)time(NULL)); rand();
int i, step, order, under, over = 1;
int change[STEP], count = O, passcode;
char sentence[101] = {0};

goboobgooboooboobobobooboboboobobooboobobooon
O00000O0O000DOO0O000O0adjust000swapdO00O0O0OD0OO0OOO0OOODOODO
STEPODOOCOOO00O0ODODOOOOOOOO0OOODODOOODOOOOOOOOOOo
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printf ("Choose encode or decode.\n");
printf ("Encode...1/Decode...2 :");
scanf ("%d",&order) ;

if(order != 1 && order != 2){

printf ("Error.\n"); return O;

}

Oooobooobo0oobooobobo0oobob0bboederodoooooooooD

gboooooobobooboboobooboboboooobobooooboboan
gobodod

54 0000

printf ("Please don’t use space_key in sentence.\n");
printf ("Instead of space_key,please use under_bar.\n");
if (order == 1){

printf ("Input sentence less than 100 words.\n");

}
else{
printf("Input code less than 100 words.\n");
}
fflush(stdout);
scanf ("%100s",sentence) ;
for(i=0; sentence[i] !'= °\0’; i++){
if (sentence[i] < ’!’ || sentenceli] > *~’){

printf ("Error,include unavailable word.\n");
return O;

}

count++;

}

000000000000 00o0ooooooooOoO%loosdDooooolo0nn
gbooboobooboobobooobobooboboobooboobooboboboobo
gboboobooboobooobooboobobbooboobooboobooboan
count U0 O OOO0O0O0OO0DOO0O0OO
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55 0O0OOOO

for(i=0; i<STEP; i++){ over *= 10; }
under = over / 10;
if (order == 1){
for(i=0; i<STEP; i++){
change[i] = rand() % 10;
if (change[i] == 0){ i--; }
}
}
else{
printf ("Input passcode:");
fflush(stdout) ;
scanf ("%d" ,&passcode) ;
if (passcode < under || passcode >= over){
printf ("Error,no this passcode.\n");
return O;
}
for (i=STEP - 1; i >= 0; i--){
change[i] = passcode % 10;
passcode /= 10;
if (change[i] == 0){
printf ("Error,no this passcode.\n");

return O;

}
printf ("\n");
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step = (order == 1)7 0: STEP;
while(step >= 0 && step <= STEP){



40 5000 — 00OO0O0n

switch(step){
case 0: for(i=0; i < count; i++){
if (order == 1){
if (sentence[i] + ((changel[step] * 3) % (i + 1)) > *7’){
adjust (sentence, i, sentence[i]
+ ((changel[step] * 3) % (1 + 1)));

}

else{ sentencel[i] += ((changel[step] * 3) % (i + 1)); }
}
elseq{

if (sentence[i] - ((changelstep] * 3) % (i + 1)) < ’17){

adjust(sentence, i, sentencel[i]
- ((changel[step] * 3) % (i + 1)));

}

else{ sentence[i] -= ((changel[step] * 3) % (i + 1)); }
}

}

if (order == 1){ step++; }
else{ step--; } break;
case 1: if(order == 1){
for(i=0; i + changel[step] < count; i += 2){

swap(sentence, i, changel[step]);

}
}
else{

for(i = ((count - changel[stepl) % 2 == 1)

? (count-1): (count-2);i - changel[step] >= 0;i -= 2){
swap(sentence, i, -changel[stepl);

}

}

if (order == 1){ step++; }
else{ step--; } break;
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case 2: for(i=0; i<count; i++){
if (i % changel[step]l){
if (order == 1){
if (sentence[i] - i < ’!17){
adjust(sentence, i, sentencel[i] - i % (°7’ - 217 - 1));
}
else{ sentencel[i] -= i; }
}
elseq
if (sentence[i] + i > *~’){
adjust(sentence, i, sentenceli] + i % (°77 - 217 - 1));
}

else{ sentence[i] += i; }

}
if (order == 1){ step++; }
else{ step—-; } break;
case 3: for(i=0; i<count; i++){
if (order == 1){
if (sentence[i] + count % changelstep]l > *7’){
adjust(sentence, i, sentence[i] + count % changel[step]);
}
else{ sentencel[i] += (count % changelstepl); }
}
elseq
if (sentence[i] - count % changel[step] < ’!°){
adjust(sentence, i, sentence[i] - count % changel[step]);
}
else{ sentence[i] -= (count % changelstepl); }
}
}
if (order == 1){ step++; }
else{ step--; } break;

ooobobobOobo switchOODOOOobobobOobOobOoboboboboboo
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case STEP: for(i=0; i<count; i++){
if (order == 1){
if(1 % 21
if (sentence[i] + change[i % STEP] > *7’){

adjust(sentence, i, sentencel[i] + changel[i % STEP]);

}
else{ sentencel[i] += changel[i % STEP]; }
}
else{
if (sentence[i] - change[i % STEP] < ’1°){
adjust(sentence, i, sentencel[i] - changel[i % STEP]);
}
else{ sentence[i] -= change[i % STEP]; }
}
}
elseq{
if(d % 21
if (sentence[i] - changel[i % STEP] < ’!7){
adjust(sentence, i, sentence[i] - changel[i % STEP]);
}
else{ sentence[i] -= changel[i % STEP]; }
}
elseq{
if (sentence[i] + change[i % STEP] > *7’){
adjust(sentence, i, sentence[i] + changel[i % STEP]);
}
else{ sentence[i] += changel[i % STEP]; }
}
}

}
if (order == 1){ step++; }
else{ step——; } break;
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if (order == 1){ printf("Enode...\n\n"); }
else{ printf("Decode...\n\n"); }
for(i=0; sentencel[i] !'= ’\0’; i++){
printf ("%c",sentence[i]);
if(i % 20 == 19){ printf("\n"); }
}
if(count % 20 !'= 0){ printf("\n"); }
if (order == 1){
printf ("\nPasscode:");
for(i=0; i<STEP; i++){ printf("J%d",changel[i]); }
printf ("\n");
}

return O;

gooooobobooboooboboboobobbboobobobobobobon
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void adjust(char word[], int number ,int total){
if(total > *7’){

word [number] = (’!’ - 1) + (total - ’7’);
}
if(total < ’!17){

word [number] = (72 + 1) - (’!’ - total);
}

void swap(char word[], int number, int x){
char temp;
temp = word [number];
word [number] = word[number + x];
word [number + x] = temp;

}

swapUUODOUOxOOOOODOO0OO0OO0OOO0o0bOoobooooooobooooon
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6 HIT & BLOW
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6.2 UOOO0O0OO

#include<stdio.h>
#include<time.h>
#include<stdlib.h>

//0000000000000000
void input(int p[]) {

int flag, N, k;

char buffer[256];

while (1) {
fgets(buffer, 256, stdin);
flag = sscanf(buffer, "%d", &N);

//0000000000000000
if (flag == 0) {
printf ("0 0000000000000 NnOOO0O0O0O0OOON\R";

continue;

/000000000000
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flag = (N >= 123 && N <= 9999);
if (flag == 0) {
printf ("0 0000000 0DO0OO0OODOOOONnOOODOOOO
O00\n");

continue;

//000000000000000
for (k = 0; k < 4; k++) {

pl3 - k] = N % 10;

N =N/ 10;

//00000000000000000O
flag = (p[0] != p[1] && p[0] !'= p[2] && p[0] != p[3] && p[1] '= p[2] &&
pl1] '= p[3] && pl[2] !'= p[3]1);
if (flag == 0) {
printf ("0 00000000000 NnO0O0O0O0OOOOON");

continue;

break;

}

return;

int main(void) {
int ans[4], num[4];
int count = 0, hit = 0, blow = 0;
int i, j;
srand ((unsigned)time (NULL));

//0000000000
//00000000000000
while (1) {
for (i = 0; i<4; i++) { ans[i] = rand() % 10; }
if (ans[0] !'= ans[1] && ans[0] !'= ans[2] &% ans[0] !'= ans[3] &&
ans[1] '= ans[2] && ans[1] !'= ans[3] && ans[2] '= ans[3]) { break; }
}
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printf (
"ooooooo\n"
"OoooooooDoOooogo\n"
"o ..0O00OOODOOODOO...0D0O0O0OON\n"
"OoooooooooooooooooooDog\a");
while (1) {
printf("\n 0O DOOD0OODOODOODODOONR";
count++;
hit = 0;blow = 0;

input (num) ;

//hit 0 blowd OO OO
for (i = 0; i<4; i++) {
if (num[i] == ans[i]) { hit++; }
}
for (i = 0; i<4; i++) {
for (j = 0; j<4; j++) {
if (num[i] == ans[j]) { blow++; }

}
}
blow -= hit;
//00000

if (hit == 4) {
printf ("0 000N OOO0OY%AO\n", count);
break;
}
else { printf("o ...%d 00 ...%d\n", hit, blow); }
}

return O;

6.3 UUOOogggg
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#include<stdio.h>
#include<stdlib.h>

/000000000000

void swap(double *x,double xy){
double temp;
temp = *Xx;
XX = *y;

*y = temp;

int main(void){

//00000000

int n;

printf ("0 000000 0O0OOOOOOOOOOOOO";
scanf ("%d" ,&n) ;
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//0000000000D0000

if (n<=0){
printf ("0 0 00000OOOO0ODOO0OOO0ON\n";
return -1;

}

//0000000000D0000

double *matrix = malloc(sizeof (double)*n*n%*2) ;
int m=n*2;//00000000BOO0O0OmO0O0O

//000000000000000 BOOO
printf ("0 0000000000 O0OO0ON\Nn";
int i,j;
for(i=0;i<n;i++){
for(j=0;j<n;j++){
printf ("matrix[%d] [4d]=",i+1,j+1);
scanf ("}1f" ,&matrix [m*i+j]);

matrix[m*i+j+n] = 0;

}
}
for(i=0;i<n;i++){
matrix[i*m+i+n] = 1;
}

/000000000
printf("O0 00000000 \n");
for(i=0;i<n;i++){
for(j=0;j<n;j++){
printf ("%.3f\t" ,matrix [i*m+j]);
}
printf ("\n");
}

int p,q,r,s,t,u;
double headl,head2;

for(p=0;p<n;p++){
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/0000 )y ddd0do0boOooDOoO0O0000ooooooDoO
for (u=p;u<n;u++){
if (matrix[p*m+p] == 0){
for (t=0;t<m;t++){

swap (§matrix [p*m+t] ,&matrix [u*m+t]) ;

//00000000000000
if (matrix [p*m+p] == 0){
printf ("0 0000000 OOODOO0OON\n");

return O;

//0000 (i1)
headl = matrix[p*m+p];
for(g=p;q<m;q++){
matrix[p*m+q] = matrix[p*m+q]/headl;

//0000 (1ii)
for (r=0;r<n;r++){
if(r !'= p){
head2 = matrix[r*m+p];
for(s=p;s<m;s++){

matrix [r*m+s] = matrix[r*m+s]-matrix[p*m+s]*head2;

//000000
printf ("0 000000000 \n");
for(i=0;i<n;i++){
for(j=0;j<n;j++){
printf ("%.3f\t",matrix [i*m+j+n]);
}
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printf ("\n");
}
free(matrix) ;
return O;
}
74 OO0

gobobooooobobooobbooobobbooobobooobbooonooboon
gooobooobbobooboboboobuoobooboobobobooboo™@ooon
gbooboboobuoobbobbuooboobbooob

(5 0OO0o0O0

0000 (1991) 000000oooooo.



54

8 ArduinocU O OOOOOOOONO
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https://github.com/Cryocrat/LeonardoJoystick

JoyState_t joySt; // Joystick state structure

void setup()

{
pinMode (0, INPUT_PULLUP);
pinMode (2, INPUT_PULLUP);
pinMode (4, INPUT_PULLUP);

joySt.xAxis

I
o

joySt.yAxis

]
o

joySt.zAxis

]
o

joySt.xRotAxis = 0
joySt.yRotAxis = 0O
joySt.zRotAxis = 0;
joySt.throttle = 0
joySt.rudder = 0
joySt.hatSwl = 0;
joySt.hatSw2 = 0;
joySt.buttons = O;

void loop()

{
// Set Axes value
joySt.xAxis = map(analogRead(0), 0, 1023, 0, 255);
joySt.yAxis = map(analogRead(2), 0, 1023, 0, 255);
joySt.throttle = map(analogRead(4), 0, 1023, 0, 255);
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// Set button value

joySt.buttons = 0;

joySt.buttons |= digitalRead(0) 7 0 : 1;
joySt.buttons |= digitalRead(2) 7 0 : 2;
joySt.buttons |= digitalRead(4) 7 0 : 4;

// Call Joystick.move
Joystick.setState(&joySt);

setupU 00000000 0DOOOOODOO0DOOO0OODOO0OO0ODOO0ODbO0ObO0O00nDO
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